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Summary: Abstract This paper deals with the instantaneous powers called intrinsic powers.
This form of nonactive power is always present when active power is present. The intrinsic
power does not cause power loss in conductors or ferromagnetic components. The paper describes
different kinds of intrinsic power and shows how it originates.
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( )ˆv V sin t� �= + �����������������������������!"#
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( )ˆi I sin t� �= + �����������������������������!$#
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p qp p p= + ��������������������������������!%#
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p ip P p= + ��������������������������������!&#
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( )P VI cos ;� � � �= = − ������������������!'#
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(2 2 )ip P cos t� �= − + �������������������������
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(2 2 )qp Q sin t� �= − + ���������������������!*#
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( )Q VI sin �= ������������������������������!+#
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[ ] (2 2 )

(2 2 ) (2 )
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p iW p dt P p dt P Pcos t dt

PP sin sin
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( )pp P F t= + ����������������������������������!7#
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1( )h H
h

ˆv V sin h t v v� �= + = +∑ ���������������!":#

1( )h H
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ˆi I sin h t i i� �= + = +∑ ����������������!""#
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( ) and    ( )H h h
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H H H

h m n i h ih iimn
h m n h m nm,n m,n

p vi v v i i R i i

R i R i i P p P p p
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2( ) 2ˆ ˆ ˆv V sin t ; V V ; v V sin t
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kj kj k

kj

j k j kˆp v i V sin cos t
m m

PÎ sin t k p
m m
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2 2 2

( ) [ ( )] ( ) [ ( )]
ˆv Vp sin t cos mcos t cos t sin mcos t

R R
� � � �= = + =

[ ]
2

1 (2 ) [2 ( )] (2 ) [2 ( )]
2
V sin t sin mcos t cos t cos mcos t

R
� � � �= + −
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( )] 2 ( 1) ( ) [(2 1) ]k
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sin[ x cos J x cos k� �+
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0 2
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[ ( )] 2 ( 1) ( ) (2 )k
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1 (2 ) (2 ) 2 (2 ) ( 1) (2 ) (2 )

2 (2 ) ( 1) (2 ) [(2 1) ]

k
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k
k

k

J m cos t cos t J m cos k t
Vp
R sin t J m cos k t

� � �
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=
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 

∑
∑

!$%#

B/�	��
��!$%#����	�	��������	�������

��� $0����
�����

����	����	�������������

��� 2
0( ) (2 ) (2 )V / R J m cos t�− ��	��

�����������
����������������

����
�������/��������$!�@)�#

	�� �$(�@!$)C"#�)��)3"�$�%�����

#�������
���
�������
�����
�������
�

����	�����	������
��	���
�����������
�����������
��	��
�

�
������
��	��� ��
������ ���������� �

��� ��� ���� ������� 
�

	��������� ������	��	��
���  �� ����� �	�	��	��� ��� �������� ���

�

�����

����	�����
�	���
���������6������$	��������������

�
�������
��	��8��������
�����
������	���
���������������.�	��

..�������
�������	�����/�����	�����������
�0
���
����	�':D

�����������������
��	���	��
�������������	���������	��������

�/�	���
	���

1

[(2 1) ]4
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1 [2(2 1) ]16
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(2 1)(2 1)

R
R
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m nm,n

v cos k tVp
R R k

sin m t sin n t
m n
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≠ =
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